PROGETTO LASER ARDUINO

Setup: So, Sc, Laser, M1

Start: M1 —> 0°

leggo So presenza pezzo

void setup(){
So\no—
M1.write(0);
- }
si pezzo
/pT\

/@Jvo motore M1 —> 90° void loop() {
\\ statoSo= DigitalRead(pinSo);
l if (statoSo == HIGHT) then {

leggo Sc colore pezzo \ M1.wri ;

\A statoSc= DigitalRead(pinSc);
if (statoSc == HIGHT) then {
Sc erde— DigitalWrite(pinLaser, HIGHT);

|'rosso\ / delay(100);

DigitalWrite(pinLaser, LOW);
Laser 2 colpi Laser 1 colpo delay(100);
DigitalWrite(pinLaser, HIGHT);
l J, delay(100);
[ DigitalWrite(pinLaser, LOW);

M1 —> 0° }
else {

DigitalWrite(pinLaser, HIGHT);

delay(100);
DigitalWrite(pinLaser, LOW);

Delay 30 sec.




